Z ZROADZ 7325672

DYNAMIC LED MOUNTING SOLUTIONS INSTALLATION INSTRUCTIONS

1. Remove the factory bumper strut bolt.

2. Install the bracket using the provided 6mm
hex bolt on the outside mounting slot location.

3.0n the inside mounting slot use the 6mm
hex bolt, washer, lock washer and hex nut.

4. Install the LED lights and wire harness. If
you purchased the KIT from ZROADZ take
note to install the brackets as shown into the
light.




NUMBER PART Qry
1 M6 X 25 MM HEX BOLT 4
2 M6 SPLIT LOCK 8
——— 3 1/4" X 5/8" WASHER 4
4 M6 HEX NUT 2
5 M8 HEX NUT 6
6 3/8" X 7/8" WASHER 6
D q 7 M8 X 20 MM HEX BOLT 6
“@’ 8 WHITE POD LIGHT 4
9 AMBER POD LIGHT 2
| . —
TOP VIEW
PASSENGER SIDE DRIVER SIDE

I

o
o 1

FRONT VIEW

éi@%

PASSENGER SIDE DRIVER SIDE

=
@




	Z325672 INSTRUCTIONS BINDER
	Z325672 INSTRUCTIONS (DRAFT)
	Instructions Sheet 2

	Instructions Sheet 2



